



## UNION AND INTERSECTION OF BIPOLAR $L$ -FUZZY SUB $\ell$ -HX GROUPS

R. MUTHURAJ and G. SANTHA MEENA

PG & Research Department of Mathematics  
H. H. The Rajah's College, Pudukkottai  
Affiliated to Bharathidasan University  
Tiruchirappalli, Tamilnadu, India  
E-mail: rmr1973@yahoo.co.in

Department of Mathematics  
PSNA College of Engineering and Technology  
Dindigul-624 622, (Research Scholar,  
PG & Research Department of Mathematics  
H. H. The Rajah's College, Pudukkottai  
Affiliated to Bharathidasan University  
Tiruchirappalli, Tamilnadu, India)  
Tamilnadu, India  
E-mail: g.santhameena@gmail.com

### Abstract

In this paper, we define the concept of union and intersection of any two bipolar  $L$ -fuzzy subsets of sub  $\ell$ -group and sub  $\ell$ -HX group. We introduce the concepts of union and Intersection of any two bipolar  $L$ -fuzzy sub  $\ell$ -groups and sub  $\ell$ -HX groups with suitable examples.

### 1. Introduction

L. A. Zadeh [11] introduced the conception of fuzzy set. Rosenfeld [9] developed the conception of fuzzy subgroups. In fuzzy sets, the membership degree range is  $[0, 1]$ . J. A Goguen [2] replaced the valuation set  $[0, 1]$

---

2010 Mathematics Subject Classification: 03F55, 06D72, 06F15, 06F35, 08A72.

Keywords: bipolar  $L$ -fuzzy sub  $\ell$ -group, bipolar  $L$ -fuzzy sub  $\ell$ -HX group, union of bipolar  $L$ -fuzzy subsets and intersection of bipolar  $L$ -fuzzy subsets.

Received July 23, 2019; Accepted September 1, 2019

through complete lattice and introduce the  $L$ -fuzzy set. In Bipolar-valued fuzzy sets, the membership degree range is enlarged from the interval  $[0, 1]$  to  $[-1, 1]$ . The membership degree  $(0, 1]$  indicates that components somewhat satisfy the property and also the membership degree  $[-1, 0)$  indicates that components somewhat satisfy the implicit counter-property. Li Hongxing [3] introduced the idea of  $HX$  group and also the authors Luo Chengzhong, Mi Honghai, Li Hongxing [4] introduced the idea of fuzzy  $HX$  group. G. S. V. Satya Saibaba [10] introduced the idea of Fuzzy lattice ordered groups. During this paper we tend to discuss some properties of bipolar  $L$ -Fuzzy sub  $\ell$ -HX group using the idea of union and intersection.

## 2. Preliminaries

In this section, we provide some basic definitions. Throughout this paper  $G = (G, *, \leq)$  could be a lattice ordered group or a  $\ell$ -group,  $e$  is that the identity of  $G$  and  $mn$  we tend to mean  $m * n$ .

**Definition 2.1.** A bipolar  $L$ -fuzzy subset  $\alpha$  of  $G$  is said to be bipolar  $L$ -fuzzy sub  $\ell$ -group of  $G$  if for any  $m, n \in G$

$$(i) \alpha^+(mn) \geq \alpha^+(m) \wedge \alpha^+(n)$$

$$(ii) \alpha^-(mn) \geq \alpha^-(m) \vee \alpha^-(n)$$

$$(iii) \alpha^-(m^{-1}) = \alpha^+(m)$$

$$(iv) \alpha^-(m^{-1}) = \alpha^-(m)$$

$$(v) \alpha^+(m \vee n) \geq \alpha^+(m) \wedge \alpha^+(n)$$

$$(vi) \alpha^-(m \vee n) \leq \alpha^-(m) \vee \alpha^-(n)$$

$$(vii) \alpha^+(m \wedge n) = \alpha^+(m) \wedge \alpha^+(n)$$

$$(viii) \alpha^-(m \wedge n) \leq \alpha^-(m) \vee \alpha^-(n).$$

**Definition 2.2.** Let  $\alpha$  be a bipolar  $L$ -fuzzy subset defined on  $G$ . Let  $\mathfrak{g} \subset 2^G - \{\emptyset\}$  be a  $\ell$ -HX group on  $G$ . A bipolar  $L$ -fuzzy set  $\rho^\alpha$  defined on  $\mathfrak{g}$  is said to be a bipolar  $L$ -fuzzy sub  $\ell$ -HX group on  $\mathfrak{g}$  if for all  $P, Q \in \mathfrak{g}$ .

- (i)  $(\rho^\alpha)^+(PQ) \geq (\rho^\alpha)^+(P) \wedge (\rho^\alpha)^+(Q)$
- (ii)  $(\rho^\alpha)^-(PQ) \leq (\rho^\alpha)^-(P) \vee (\rho^\alpha)^-(Q)$
- (iii)  $(\rho^\alpha)^+(P) = (\rho^\alpha)^+(P^{-1})$
- (iv)  $(\rho^\alpha)^-(P) = (\rho^\alpha)^-(P^{-1})$
- (v)  $(\rho^\alpha)^+(P \vee Q) \geq (\rho^\alpha)^+(P) \wedge (\rho^\alpha)^+(Q)$
- (vi)  $(\rho^\alpha)^-(P \vee Q) \geq (\rho^\alpha)^-(P) \vee (\rho^\alpha)^-(Q)$
- (vii)  $(\rho^\alpha)^+(P \wedge Q) \geq (\rho^\alpha)^+(P) \wedge (\rho^\alpha)^+(Q)$
- (viii)  $(\rho^\alpha)^-(P \wedge Q) \leq (\rho^\alpha)^-(P) \vee (\rho^\alpha)^-(Q)$ .

Where  $(\rho^\alpha)^+(P) = \vee\{\alpha^+(m) \mid m \in P \subseteq G\}$  and  $(\rho^\alpha)^-(P) = \wedge\{\alpha^-(m) \mid m \in P \subseteq G\}$ .

**Example 2.3.** Let  $(G, \cdot_8) = (\{1, 3, 5, 7\}, \cdot_8)$  be a group where  $G$  is the non-negative integer relatively prime to 8. Consider the partial order relation “Less than or equal to” on  $G$ . It gives the following Hasse Diagram.



So, we can easily verify both GLB and LUB exist for each pair of  $G$ . Clearly the poset  $(G, \leq)$  is a Lattice.

Hence  $(G, \cdot_8, \leq)$  is a Lattice ordered group.

Let  $\mathfrak{A} \subset 2^G - \{\emptyset\}$  be a non-empty set. Let us consider  $\mathfrak{A} = \{P, Q\} = \{\{1, 3\}, \{5, 7\}\}$

$\cdot_8$	P	Q
P	P	Q
Q	Q	P

Clearly  $(\mathfrak{A}, \cdot_8)$  is a HX-group.

Consider the partial order relation  $P \subseteq Q$  iff  $p \leq q$  for all  $p \in P$  and  $q \in Q$  on  $\mathfrak{A}$ . It gives the following Hasse Diagram.



So, we can easily verify both GLB and LUB exist for each pair of  $\mathfrak{A}$ .

	P	Q
$\wedge$		
P	P	P
Q	Q	Q

	P	Q
$\vee$		
P	P	Q
Q	Q	Q

Clearly the poset  $(\mathfrak{A}, \subseteq)$  is a Lattice.

Hence,  $(\mathfrak{A}, \cdot, \subseteq)$  is a Lattice ordered HX-group.

**Definition 2.4** [10]. Let  $\alpha = (\alpha^+, \alpha^-)$  and  $\beta = (\beta^+, \beta^-)$  are bipolar  $L$ -fuzzy subsets of sub  $\ell$ -group of  $G$ . The intersection of  $\alpha$  and  $\beta$  is  $(\alpha \cap \beta) = ((\alpha \cap \beta)^+, (\alpha \cap \beta)^-)$  defined as

- (i)  $(\alpha \cap \beta)^+(m) = (\alpha)^+(m) \wedge (\beta)^+(m)$
- (ii)  $(\alpha \cap \beta)^-(m) = (\alpha)^-(m) \vee (\beta)^-(m)$ , for all  $m \in G$

### 3. Some Properties and Examples of Bipolar $L$ -Fuzzy sub $\ell$ -group using Union and Intersection

In this section, we discuss some of the properties and examples of bipolar  $L$ -fuzzy sub  $\ell$ -group using union and intersection.

**Theorem 3.1.** *If  $\alpha$  and  $\beta$  be any two bipolar  $L$ -fuzzy sub  $\ell$ -group of  $G$  then  $\alpha \cap \beta$  is also a bipolar  $L$ -fuzzy sub  $\ell$ -group of  $G$ .*

**Proof.** Let  $\alpha = (\alpha^+, \alpha^-)$  and  $\beta = (\beta^+, \beta^-)$  are bipolar  $L$ -fuzzy sub  $\ell$ -group of  $G$ . for  $m, n \in G$ , we have

$$\begin{aligned} \text{(i) } (\alpha \cap \beta)^+(mn^{-1}) &= \alpha^+(mn^{-1}) \wedge \beta^+(mn^{-1}) \\ &\geq (\alpha^+(m) \wedge \alpha^+(n)) \wedge (\beta^+(m) \wedge \beta^+(n)) \\ &= (\alpha^+(m) \wedge \beta^+(m)) \wedge (\alpha^+(m) \wedge \beta^+(n)) \\ &= (\alpha \cap \beta)^+(m) \wedge (\alpha \cap \beta)^+(n) \end{aligned}$$

$$(\alpha \cap \beta)^+(mn^{-1}) \leq (\alpha \cap \beta)^+(m) \wedge (\alpha \cap \beta)^+(n)$$

$$\begin{aligned} \text{(ii) } (\alpha \cap \beta)^-(mn^{-1}) &= \alpha^-(mn^{-1}) \vee \beta^-(mn^{-1}) \\ &\leq (\alpha^-(m) \vee \alpha^-(n)) \vee (\beta^-(m) \vee \beta^-(n)) \\ &= (\alpha^-(m) \vee \beta^-(m)) \vee (\alpha^-(n) \vee \beta^-(n)) \\ &= (\alpha \cap \beta)^-(m) \vee (\alpha \cap \beta)^-(n) \end{aligned}$$

$$(\alpha \cap \beta)^-(mn^{-1}) \leq (\alpha \cap \beta)^-(m) \vee (\alpha \cap \beta)^-(n)$$

$$\begin{aligned} \text{(iii) } (\alpha \cap \beta)^+(m \vee n) &= \alpha^+(m \vee n) \wedge \beta^+(m \vee n) \\ &\geq (\alpha^+(m) \wedge \alpha^+(n)) \wedge (\beta^+(m) \wedge \beta^+(n)) \\ &= (\alpha^+(m) \wedge \beta^+(m)) \wedge (\alpha^+(m) \wedge \beta^+(n)) \\ &= (\alpha \cap \beta)^+(m) \wedge (\alpha \cap \beta)^+(n) \end{aligned}$$

$$(\alpha \cap \beta)^+(m \vee n) \geq (\alpha \cap \beta)^+(m) \wedge (\alpha \cap \beta)^+(n)$$

$$\begin{aligned} \text{(iv) } (\alpha \cap \beta)^-(m \vee n) &= \alpha^-(m \vee n) \wedge \beta^-(m \vee n) \\ &\leq (\alpha^-(m) \vee \alpha^-(n)) \vee (\beta^-(m) \vee \beta^-(n)) \\ &= (\alpha^-(m) \vee \beta^-(m)) \vee (\alpha^-(n) \vee \beta^-(n)) \end{aligned}$$

$$= (\alpha \cap \beta)^-(m) \vee (\alpha \cap \beta)^-(n)$$

$$(\alpha \cap \beta)^-(m \vee n) \leq (\alpha \cap \beta)^-(m) \vee (\alpha \cap \beta)^-(n)$$

$$(v) (\alpha \cap \beta)^+(m \wedge n) = \alpha^+(m \wedge n) \wedge \beta^+(m \wedge n)$$

$$\leq (\alpha^+(m) \wedge \alpha^+(n)) \wedge (\beta^+(m) \wedge \beta^+(n))$$

$$= (\alpha^+(m) \wedge \beta^+(m)) \wedge (\alpha^+(n) \wedge \beta^+(n))$$

$$= (\alpha \cap \beta)^+(m) \wedge (\alpha \cap \beta)^+(n)$$

$$(\alpha \cap \beta)^+(m \wedge n) \leq (\alpha \cap \beta)^+(m) \wedge (\alpha \cap \beta)^+(n)$$

$$(vi) (\alpha \cap \beta)^-(m \wedge n) = \alpha^-(m \wedge n) \wedge \beta^-(m \wedge n)$$

$$\geq (\alpha^-(m) \vee \alpha^-(n)) \vee (\beta^-(m) \vee \beta^-(n))$$

$$= (\alpha^-(m) \vee \beta^-(m)) \vee (\alpha^-(n) \vee \beta^-(n))$$

$$= (\alpha \cap \beta)^-(m) \vee (\alpha \cap \beta)^-(n)$$

$$(\alpha \cap \beta)^-(m \wedge n) \leq (\alpha \cap \beta)^-(m) \vee (\alpha \cap \beta)^-(n).$$

Hence,  $\alpha \cap \beta$  is a bipolar  $L$ -fuzzy sub  $\ell$ -group of  $G$ .

**Example 3.2.** The above theorem can be explained in this example. Let  $(G, \cdot, \leq) = (\{1, 4, 7, 13\}, \cdot, \leq)$  be a  $\ell$ -group where  $G$  is the non-negative integer relatively prime to 15. Let  $\alpha = \{\langle m, \alpha^+(m), \alpha^-(m) \rangle : m \in G\}$  and  $\beta = \{\langle m, \beta^+(m), \beta^-(m) \rangle : m \in G\}$  are bipolar  $L$ -fuzzy subsets of  $G$ .

The mappings  $\alpha^+ : G \rightarrow L$ ,  $\alpha^- : G \rightarrow L$ ,  $\beta^+ : G \rightarrow L$  and  $\beta^- : G \rightarrow L$  are defined as,

$\alpha^+(1) = 0.7$	$\alpha^-(1) = -0.8$	$\beta^+(1) = 0.8$	$\beta^-(1) = -0.9$
$\alpha^+(4) = 0.6$	$\alpha^-(4) = -0.5$	$\beta^+(4) = 0.7$	$\beta^-(4) = -0.6$

$\alpha^+(7) = 0.5$	$\alpha^-(7) = -0.4$	$\beta^+(7) = 0.6$	$\beta^-(7) = -0.3$
$\alpha^+(13) = 0.5$	$\alpha^-(13) = -0.4$	$\beta^+(13) = 0.6$	$\beta^-(13) = -0.3$

Clearly,  $\alpha$  and  $\beta$  is a bipolar  $L$ -fuzzy sub  $\ell$ -group of  $G$ .

The intersection of  $\alpha$  and  $\beta$  is calculated as,

$(\alpha \cap \beta)^+(1) = 0.8$	$(\alpha \cap \beta)^-(1) = 0.9$
$(\alpha \cap \beta)^+(4) = 0.7$	$(\alpha \cap \beta)^-(4) = -0.8$
$(\alpha \cap \beta)^+(7) = 0.6$	$(\alpha \cap \beta)^-(7) = -0.7$
$(\alpha \cap \beta)^+(13) = 0.6$	$(\alpha \cap \beta)^-(13) = -0.7$

Hence,  $\alpha \cap \beta$  is a bipolar  $L$ -fuzzy sub  $\ell$ -group of  $G$ .

**Definition 3.3** [10]. Let  $\alpha = (\alpha^+, \alpha^-)$  and  $\beta = (\beta^+, \beta^-)$  are bipolar  $L$ -fuzzy subsets of sub  $\ell$ -group of  $G$ . The union of  $\alpha$  and  $\beta$  is  $(\alpha \cup \beta) = ((\alpha \cup \beta)^+, (\alpha \cup \beta)^-)$  defined as

- (i)  $(\alpha \cup \beta)^+(m) = (\alpha^+(m) \vee \beta^+(m))$
- (ii)  $(\alpha \cup \beta)^-(m) = (\alpha^-(m) \wedge \beta^-(m))$ , for all  $m \in G$ .

**Remark 3.4.** Union of two bipolar  $L$ -fuzzy sub  $\ell$ -group of a  $\ell$ -group  $G$  need not be a bipolar  $L$ -fuzzy sub  $\ell$ -group which can be explained by the following example.

**Example 3.5.** Let  $(G, \cdot_{15}, \leq) = (\{1, 4, 7, 13\}, \cdot_{15}, \leq)$  be a  $\ell$ -group where  $G$  is a non-negative integer relatively prime to 15. Let  $\alpha = \{(m, \alpha^+(m), \alpha^-(m)) : m \in G\}$  and  $\beta = \{(m, \beta^+(m), \beta^-(m)) : m \in G\}$  are bipolar  $L$ -fuzzy subsets of  $G$ .

The mappings  $\alpha^+ : G \rightarrow L$ ,  $\alpha^- : G \rightarrow L$ ,  $\beta^+ : G \rightarrow L$  and  $\beta^- : G \rightarrow L$  are defined as,

$\alpha^+(1) = 0.8$	$\alpha^-(1) = -0.7$	$\beta^+(1) = 0.9$	$\beta^-(1) = -0.6$
$\alpha^+(4) = 0.6$	$\alpha^-(4) = -0.4$	$\beta^+(4) = 0.7$	$\beta^-(4) = -0.5$
$\alpha^+(7) = 0.3$	$\alpha^-(7) = -0.2$	$\beta^+(7) = 0.6$	$\beta^-(7) = -0.4$
$\alpha^+(13) = 0.3$	$\alpha^-(13) = -0.2$	$\beta^+(13) = 0.6$	$\beta^-(13) = -0.4$

Clearly,  $\alpha$  and  $\beta$  is a bipolar  $L$ -fuzzy sub  $\ell$ -group of  $G$ .

The union of  $\alpha$  and  $\beta$  is calculated as,

$(\alpha \cup \beta)^+(1) = 0.5$	$(\alpha \cup \beta)^-(1) = -0.4$
$(\alpha \cup \beta)^+(4) = 0.8$	$(\alpha \cup \beta)^-(4) = -0.6$
$(\alpha \cup \beta)^+(7) = 0.6$	$(\alpha \cup \beta)^-(7) = -0.5$
$(\alpha \cup \beta)^+(13) = 0.6$	$(\alpha \cup \beta)^-(13) = -0.5$

Now,  $(\alpha \cup \beta)^+(7.13) = (\alpha \cup \beta)^+(1) \geq (\alpha \cup \beta)^+(7) \wedge (\alpha \cup \beta)^+(13)$ ,  $0.5 \geq (0.6 \wedge 0.6)$   
 $0.5 \geq 0.6$ . And  $(\alpha \cup \beta)^-(7.13) = (\alpha \cup \beta)^-(1) \leq (\alpha \cup \beta)^-(7) \vee (\alpha \cup \beta)^-(13)$ ,  $-0.4$   
 $\leq (-0.5 \vee -0.5)$ ,  $-0.4 \leq -0.5$ .

This is not true.

Hence,  $\alpha \cup \beta$  is not a bipolar  $L$ -fuzzy sub  $\ell$ -group of  $G$ .

**Theorem 3.6.** *If  $\alpha, \beta$  be any two bipolar  $L$ -fuzzy sub  $\ell$ -group of  $G$  then  $\alpha \cup \beta$  is a bipolar  $L$ -fuzzy sub  $\ell$ -group of  $G$  if and only if  $\alpha \subseteq \beta$  or  $\beta \subseteq \alpha$ .*

**Proof.** It is obvious.

#### 4. Some Properties and Examples of Bipolar $L$ -fuzzy sub $\ell$ -HX group using the Concept of Union and Intersection

In this section, we discuss some properties and examples of bipolar  $L$ -fuzzy sub  $\ell$ -HX group using the concept of union and intersection.



**Theorem 4.1.** *Let  $G$  be a  $\ell$ -group. If  $\alpha$  is a bipolar  $L$ -fuzzy sub  $\ell$ -group of  $G$  then the bipolar  $L$ -fuzzy set  $\rho^\alpha$  is a bipolar  $L$ -fuzzy sub  $\ell$ -HX group of  $\mathfrak{G}$ .*

**Proof.** Let  $\alpha$  be a bipolar  $L$ -fuzzy sub  $\ell$ -group of  $G$  and  $\rho^\alpha$  be a bipolar  $L$ -fuzzy subset on  $G$  for any  $P, Q \in \mathfrak{G} \subset G$

(i)  $(\rho^\alpha)^+(P) \wedge (\rho^\alpha)^+(Q) = (\vee \{\alpha^+(m)/ \text{ for all } m \in P \subset G\}) \wedge (\vee \{\alpha^+(n)/ \text{ for all } n \in Q \subset G\})$

$$= \alpha^+(m_0) \wedge \alpha^+(n_0), \text{ some } m_0 \in P, n_0 \in Q \text{ and } P, Q \subset G$$

$$\leq \alpha^+(m_0 n_0), \alpha \text{ is a bipolar } L\text{-fuzzy sub } \ell\text{-group on } G$$

$$= \vee \{\alpha^+(mn)/ \text{ for all } m \in P, n \in Q \text{ and } P, Q \subset G\}$$

$$= (\rho^\alpha)^+(PQ)$$

$$(\rho^\alpha)^+(PQ) \geq (\rho^\alpha)^+(P) \wedge (\rho^\alpha)^+(Q)$$

(ii)  $(\rho^\alpha)^-(P) \vee (\rho^\alpha)^-(Q) = (\wedge \{\alpha^-(m)/ \text{ for all } m \in P \subset G\}) \vee (\wedge \{\alpha^-(n)/ \text{ for all } n \in Q \subset G\})$

$$= \alpha^-(m_0) \vee \alpha^-(n_0), \text{ some } m_0 \in P, n_0 \in Q \text{ and } P, Q \subset G$$

$$\geq \alpha^-(m_0 n_0), \alpha \text{ is a bipolar } L\text{-fuzzy sub } \ell\text{-group on } G$$

$$= \wedge \{\alpha^-(mn)/ \text{ for all } m \in P, n \in Q \text{ and } P, Q \subset G\}$$

$$= (\rho^\alpha)^-(PQ)$$

$$(\rho^\alpha)^-(PQ) \leq (\rho^\alpha)^-(P) \vee (\rho^\alpha)^-(Q)$$

(iii)  $(\rho^\alpha)^+(P) = \vee \{\alpha^+(m)/ \text{ for all } m \in P \subset G\}$

$$= \vee \{\alpha^+(m^{-1})/ \text{ for all } m^{-1} \in P \subset G\}$$

$$= \vee \{\alpha^+(m^{-1})/ \text{ for all } m^{-1} \in P^{-1} \subset G\}$$

$$(\rho^\alpha)^+(P) = (\rho^\alpha)^+(P^{-1})$$

$$(iv) (\rho^\alpha)^-(P) = \wedge \{ \alpha^-(m) / \text{ for all } m \in P \subset G \}$$

$$= \wedge \{ \alpha^-(m^{-1}) / \text{ for all } m^{-1} \in P \subset G \}$$

$$= \wedge \{ \alpha^-(m^{-1}) / \text{ for all } m^{-1} \in P^{-1} \subset G \}$$

$$(\rho^\alpha)^-(P) = (\rho^\alpha)^-(P^{-1})$$

$$(v) (\rho^\alpha)^+(P) \wedge (\rho^\alpha)^+(Q) = (\vee \{ \alpha^+(m) / \text{ for all } m \in P \subset G \}) \wedge (\vee \{ \alpha^+(n) / \text{ for all } n \in Q \subset G \})$$

$$= \alpha^+(m_0) \wedge \alpha^+(n_0), \text{ some } m_0 \in P, n_0 \in Q \text{ and } P, Q \in G$$

$$\leq \alpha^+(m_0 \wedge n_0), \alpha \text{ is a bipolar } L\text{-fuzzy sub } \ell\text{-group on } G$$

$$= \vee \{ \alpha^+(m \wedge n) / \text{ for all } m \in P, n \in Q \text{ and } P, Q \subset G \}$$

$$= (\rho^\alpha)^+(P \wedge Q)$$

$$(\rho^\alpha)^+(P \wedge Q) \geq (\rho^\alpha)^+(P) \wedge (\lambda \rho^\alpha)^+(Q)$$

$$(vi) (\rho^\alpha)^-(P) \vee (\rho^\alpha)^-(Q) = (\wedge \{ \alpha^-(m) / \text{ for all } m \in P \subset G \}) \vee (\wedge \{ \alpha^-(n) / \text{ for all } n \in Q \subset G \})$$

$$= \alpha^-(m_0) \vee \alpha^-(n_0), \text{ some } m_0 \in P, n_0 \in Q \text{ and } P, Q \subset G$$

$$\geq \alpha^-(m_0 \wedge n_0), \alpha \text{ is a bipolar } L\text{-fuzzy sub } \ell\text{-group on } G$$

$$= \wedge \{ \alpha^-(m \wedge n) / \text{ for all } m \in P, n \in Q \text{ and } P, Q \subset G \}$$

$$= (\rho^\alpha)^-(P \wedge Q)$$

$$(\rho^\alpha)^-(P \wedge Q) \leq (\rho^\alpha)^-(P) \vee (\rho^\alpha)^-(Q)$$

$$(vii) (\rho^\alpha)^+(P) \wedge (\rho^\alpha)^+(Q) = (\vee \{ \alpha^+(m) / \text{ for all } m \in P \subset G \}) \wedge (\vee \{ \alpha^+(n) / \text{ for all } n \in Q \subset G \})$$

$$= \alpha^+(m_0) \wedge \alpha^+(n_0), \text{ some } m_0 \in P, n_0 \in Q \text{ and } P, Q \subset G$$

$$\leq \alpha^+(m_0 \vee n_0), \mu \text{ is a bipolar } L\text{-fuzzy sub } \ell\text{-group on } G$$

$$= \vee \{ \alpha^+(m \vee n) / \text{ for all } m \in P, n \in Q \text{ and } P, Q \subset G \}$$

$$= (\rho^\alpha)^+(P \vee Q)$$

$$(\rho^\alpha)^+(P \vee Q) \geq (\rho^\alpha)^+(P) \wedge (\rho^\alpha)^+(Q)$$

$$\text{(viii) } (\rho^\alpha)^-(P) \vee (\rho^\alpha)^-(Q) = (\wedge \{ \alpha^-(m) / \text{ for all } m \in P \subset G \}) \vee (\wedge \{ \alpha^-(n) / \text{ for all } n \in Q \subset G \})$$

$$= \alpha^-(m_0) \vee \alpha^-(n_0), \text{ some } m \in P, n_0 \in Q \text{ and } P, Q \subset G$$

$$\geq \alpha^-(m_0 \vee n_0), \alpha \text{ is a bipolar } L\text{-fuzzy sub } \ell\text{-group on } G$$

$$= \wedge \{ \alpha^-(m \vee n) / \text{ for all } m \in P, n \in Q \text{ and } P, Q \subset G \}$$

$$= (\rho^\alpha)^-(P \vee Q)$$

$$(\rho^\alpha)^-(P \vee Q) \leq (\rho^\alpha)^-(P) \vee (\rho^\alpha)^-(Q).$$

Hence,  $\rho^\alpha$  is a bipolar  $L$ -fuzzy sub  $\ell$ -HX group of  $\mathfrak{G}$ .

**Remark 4.2.** Let  $G$  be a  $\ell$ -group. Let  $\alpha = (\alpha^+, \alpha^-)$  is a bipolar  $L$ -fuzzy subset of  $G$ . If  $\rho^\alpha = ((\rho^\alpha)^+, (\rho^\alpha)^-)$  be a bipolar  $L$ -fuzzy sub  $\ell$ -HX group of  $\mathfrak{G}$  with  $|M| \geq 2$  for all  $M \in \mathfrak{G}$ . then  $\alpha = (\alpha^+, \alpha^-)$  need not be a bipolar  $L$ -fuzzy sub  $\ell$ -group of  $G$ , which can be explained by the following example.

**Example 4.3.** Let  $(G, \cdot_{12}, \leq) = (\{1, 5, 7, 11\}, \cdot_{12}, \leq)$  be a  $\ell$ -group where  $G$  is the non-negative integer relatively prime to 12. Let  $\alpha = \{ \langle m, \alpha^+(m), \alpha^-(m) \rangle : m \in G \}$  be the bipolar  $L$ -fuzzy subset of  $G$ . The mappings  $\alpha^+ : G \rightarrow L, \alpha^- : G \rightarrow L$  are defined as,

$\alpha^+(1) = 0.9$	$\alpha^-(1) = -0.6$
$\alpha^+(5) = 0.8$	$\alpha^-(3) = -0.4$
$\alpha^+(7) = 0.7$	$\alpha^-(5) = -0.3$
$\alpha^+(11) = 0.5$	$\alpha^-(7) = -0.2$

Assume  $(\mathfrak{g}, \cdot, \subseteq) = (\{P, Q\}, \cdot, \subseteq) = (\{\{1, 5\}, \{7, 11\}\}, \cdot, \subseteq)$  be a  $\ell$ -HX group.

Let  $\rho^\alpha = \{(m, (\rho^\alpha)^+(m), (\rho^\alpha)^-(m))\}$  for all  $m \in \mathfrak{g}$  is a bipolar  $L$ -fuzzy subset of  $\mathfrak{g}$  and the mappings  $(\rho^\alpha)^+ : \mathfrak{g} \rightarrow L, (\rho^\alpha)^- : \mathfrak{g} \rightarrow L$  are calculated as,

$(\rho^\alpha)^+(P) = 0.9$	$(\rho^\alpha)^-(P) = -0.6$
$(\rho^\alpha)^+(Q) = 0.8$	$(\rho^\alpha)^-(Q) = -0.5$

Clearly,  $\rho^\alpha$  is a bipolar  $L$ -fuzzy sub  $\ell$ -HX group of  $\mathfrak{g}$ .

But,  $\alpha$  is not a bipolar  $L$ -fuzzy sub  $\ell$ -group of  $G$ .

Because,  $\alpha^+(5.7) = \alpha^+(11) \geq \alpha^+(5) \wedge \alpha^+(7), 0.5 \geq (0.8) \wedge (0.7), 0.5 \geq 0.7$ .

And  $\alpha^-(5.7) = \alpha^-(11) \leq \alpha^-(5) \vee \alpha^-(7), -0.2 \leq (-0.4) \vee (-0.3), -0.2 \leq -0.3$ .

This is not true.

Hence,  $\alpha$  is not a bipolar  $L$ -fuzzy sub  $\ell$ -group of  $G$ .

**Definition 4.4** [6]. Let  $\alpha = (\alpha^+, \alpha^-)$  and  $\beta = (\beta^+, \beta^-)$  are bipolar  $L$ -fuzzy subsets of  $G$ . Let  $\mathfrak{g} \subset 2^G - \{\emptyset\}$  be a  $\ell$ -HX group of  $G$ . Let  $\rho^\alpha = ((\rho^\alpha)^+, (\rho^\alpha)^-)$  and  $\omega^\beta = ((\omega^\beta)^+, (\omega^\beta)^-)$  are bipolar  $L$ -fuzzy subsets of  $\mathfrak{g}$ . The intersection of  $\rho^\alpha$  and  $\omega^\beta$  is  $(\rho^\alpha \cap \omega^\beta) = ((\rho^\alpha \cap \omega^\beta)^+, (\rho^\alpha \cap \omega^\beta)^-)$  defined as

(i)  $(\rho^\alpha \cap \omega^\beta)^+(P) = (\rho^\alpha)^+(P) \wedge (\omega^\beta)^+(P)$

$$(ii) (\rho^\alpha \cap \omega^\beta)^-(P) = (\rho^\alpha)^-(P) \vee (\omega^\beta)^-(P)$$

Where  $(\rho^\alpha)^+(P) = \vee \{\alpha^+(m) \mid m \in P \subseteq G\}$

$$(\rho^\alpha)^-(P) = \wedge \{\alpha^-(m) \mid m \in P \subseteq G\}$$

$$(\omega^\beta)^+(P) = \vee \{\beta^+(m) \mid m \in P \subseteq G\}$$

$$(\omega^\beta)^-(P) = \wedge \{\beta^-(m) \mid m \in P \subseteq G\}.$$

**Theorem 4.5** [7]. *Let  $\rho^\alpha$  and  $\omega^\beta$  be any two bipolar  $L$ -fuzzy sub  $\ell$ -HX group of a  $\ell$ -HX group  $\mathfrak{G}$  then  $\rho^\alpha \cap \omega^\beta$  is a bipolar  $L$ -fuzzy sub  $\ell$ -HX group of a  $\ell$ -HX group  $\mathfrak{G}$ .*

**Remark 4.6.** Let  $G$  be a  $\ell$ -group. Let  $\alpha = (\alpha^+, \alpha^-)$  and  $\beta = (\beta^+, \beta^-)$  are bipolar  $L$ -fuzzy sub  $\ell$ -group of  $G$  and  $\alpha \cap \beta$  is also a bipolar  $L$ -fuzzy sub  $\ell$ -group of  $G$  then  $\Omega^{\alpha \cap \beta} = ((\Omega^{\alpha \cap \beta})^+, (\Omega^{\alpha \cap \beta})^-)$  is a bipolar  $L$ -fuzzy sub  $\ell$ -HX group of  $\mathfrak{G}$  induced by  $\alpha \cap \beta$  of sub  $\ell$ -group of  $G$  (By theorem 4.1).

**Theorem 4.7.** *If  $\rho^\alpha, \omega^\beta, \Omega^{\alpha \cap \beta}$  are bipolar  $L$ -fuzzy sub  $\ell$ -HX group of  $\mathfrak{G}$  induced by bipolar  $L$ -fuzzy sub  $\ell$ -groups  $\alpha, \beta$  and  $\alpha \cap \beta$  of  $G$  respectively then  $\Omega^{\alpha \cap \beta} = \rho^\alpha \cap \omega^\beta$ .*

**Proof.** Let  $\rho^\alpha = ((\rho^\alpha)^+, (\rho^\alpha)^-)$  and  $\omega^\beta = ((\omega^\beta)^+, (\omega^\beta)^-)$  are bipolar  $L$ -fuzzy sub  $\ell$ -HX group of  $\mathfrak{G}$  then  $\rho^\alpha \cap \omega^\beta$  are bipolar  $L$ -fuzzy sub  $\ell$ -HX group of  $\mathfrak{G}$  and  $\Omega^{\alpha \cap \beta}$  is a bipolar  $L$ -fuzzy sub  $\ell$ -HX group of  $\mathfrak{G}$  induced by bipolar  $L$ -fuzzy subset  $\alpha \cap \beta$  of sub  $\ell$ -group of  $G$ .

$$\begin{aligned} (i) (\Omega^{\alpha \cap \beta})^+(P) &= \vee \{(\alpha \cap \beta)^+(m) \mid m \in P \subseteq G\} \\ &= \vee \{(\alpha^+(m) \wedge \beta^+(m)) \mid m \in P \subseteq G\} \\ &= (\vee \{\alpha^+(m) \mid m \in P \subseteq G\}) \wedge (\vee \{\beta^+(m) \mid m \in P \subseteq G\}) \\ &= (\rho^\alpha)^+(P) \wedge (\omega^\beta)^+(P) \\ &= (\rho^\alpha \cap \omega^\beta)^+(P) \end{aligned}$$

$$\begin{aligned}
 \text{(ii)} \quad (\Omega^{\alpha \cap \beta})^-(P) &= \wedge \{(\alpha \cap \beta)^-(m)/m \in P \subseteq G\} \\
 &= \wedge \{\{\alpha^-(m) \vee \beta^-(m)\}/m \in P \subseteq G\} \\
 &= (\wedge \{\alpha^-(m)/m \in P \subseteq G\}) \vee (\wedge \{\beta^-(m)/m \in P \subseteq G\}) \\
 &= (\rho^\alpha)^-(P) \vee (\omega^\beta)^-(P) \\
 &= (\rho^\alpha \cap \omega^\beta)^-(P).
 \end{aligned}$$

Hence,  $\Omega^{\alpha \cap \beta} = \rho^\alpha \cap \omega^\beta$ .

**Example 4.8.** The above theorem can be illustrated in this example.

Let  $(G, ., \leq) = (\{1, 3, 5, 7\}, ., \leq)$  be a  $\ell$ -group where  $G$  is the non-negative integer relatively prime to 8. Let  $\alpha = \{ \langle m, \alpha^+(m), \alpha^-(m) \rangle : m \in G \}$  and  $\beta = \{ \langle m, \beta^+(m), \beta^-(m) \rangle : m \in G \}$  are bipolar  $L$ -fuzzy subsets of  $G$ .

(i) The mappings  $\alpha^+ : G \rightarrow L, \alpha^- : G \rightarrow L, \beta^+ : G \rightarrow L$  and  $\beta^- : G \rightarrow L$  are defined as,

$\alpha^+(1) = 0.8$	$\alpha^-(1) = -0.7$	$\beta^+(1) = 0.9$	$\beta^-(1) = -0.7$
$\alpha^+(3) = 0.6$	$\alpha^-(3) = -0.5$	$\beta^+(3) = 0.7$	$\beta^-(3) = -0.6$
$\alpha^+(5) = 0.4$	$\alpha^-(5) = -0.3$	$\beta^+(5) = 0.6$	$\beta^-(5) = -0.5$
$\alpha^+(7) = 0.4$	$\alpha^-(7) = -0.3$	$\beta^+(7) = 0.6$	$\beta^-(7) = -0.5$

Clearly,  $\alpha$  and  $\beta$  is a bipolar  $L$ -fuzzy sub  $\ell$ -group of  $G$ .

(ii) The intersection of  $\alpha$  and  $\beta$  is calculated as, clearly,  $\alpha \cap \beta$  is a bipolar  $L$ -fuzzy sub  $\ell$ -group of  $G$ .

$(\alpha \cap \beta)^+(1) = .8$	$(\alpha \cap \beta)^-(1) = -0.9$
$(\alpha \cap \beta)^+(3) = 0.7$	$(\alpha \cap \beta)^-(2) = -0.6$

$(\alpha \cap \beta)^+(5) = 0.6$	$(\alpha \cap \beta)^-(3) = -0.4$
$(\alpha \cap \beta)^+(7) = 0.6$	$(\alpha \cap \beta)^-(4) = -0.4$

(iii) Let  $\mathfrak{G} = \{P, Q\} = \{\{1, 3\}, \{5, 7\}\}$  be a  $\ell$ -HX group of  $G$ .

.	P	Q
P	P	Q
Q	Q	P
$\wedge$	P	Q
P	P	P
Q	P	Q

$\vee$	P	Q
P	P	Q
Q	Q	Q

Define  $(\rho^\alpha)^+(P) = \vee \{\alpha^+(m) \mid \text{for all } m \in P \subseteq G\}$

$(\rho^\alpha)^-(P) = \wedge \{\alpha^-(m) \mid \text{for all } m \in P \subseteq G\}$

$(\omega^\beta)^+(P) = \vee \{\beta^+(m) \mid \text{for all } m \in P \subseteq G\}$  and

$(\omega^\beta)^-(P) = \wedge \{\beta^-(m) \mid \text{for all } m \in P \subseteq G\}$ .

Now

$(\rho^\alpha)^+(P) = .8$	$(\rho^\alpha)^-(P) = -0.7$	$(\omega^\beta)^+(P) = 0.9$	$(\omega^\beta)^-(P) = -0.7$
$(\rho^\alpha)^+(Q) = 0.4$	$(\rho^\alpha)^-(Q) = -0.3$	$(\omega^\beta)^+(Q) = 0.6$	$(\omega^\beta)^-(Q) = -0.5$

Clearly,  $\rho^\alpha$  and  $\omega^\beta$  is a bipolar  $L$ -fuzzy sub  $\ell$ -HX group of  $\mathfrak{G}$ .

(iv) The intersection of  $\rho^\alpha$  and  $\omega^\beta$  is calculated as,

$(\rho^\alpha \cap \omega^\beta)^+(P) = 0.8$	$(\rho^\alpha \cap \omega^\beta)^-(P) = -0.7$
$(\rho^\alpha \cap \omega^\beta)^+(Q) = 0.4$	$(\rho^\alpha \cap \omega^\beta)^-(Q) = -0.3$

Clearly,  $\rho^\alpha \cap \omega^\beta$  is a bipolar  $L$ -fuzzy sub  $\ell$ -HX group of  $\mathfrak{G}$ .

(v) Let  $\Omega^{\alpha \cap \beta} = ((\Omega^{\alpha \cap \beta})^+, (\Omega^{\alpha \cap \beta})^-)$  be a bipolar  $L$ -fuzzy set of  $\mathfrak{G}$  and the mappings  $(\Omega^{\alpha \cap \beta})^+ : \mathfrak{G} \rightarrow L, (\Omega^{\alpha \cap \beta})^- : \mathfrak{G} \rightarrow L$  are defined as

$$(\Omega^{\alpha \cap \beta})^+(P) = \vee\{(\alpha \cap \beta)^+(P)/m \in P \subseteq G\}$$

$$(\Omega^{\alpha \cap \beta})^-(P) = \wedge\{(\alpha \cap \beta)^-(P)/m \in P \subseteq G\}.$$

Now

$(\Omega^{\alpha \cap \beta})^+(P) = 0.8$	$(\Omega^{\alpha \cap \beta})^-(P) = -0.7$
$(\Omega^{\alpha \cap \beta})^+(Q) = 0.4$	$(\Omega^{\alpha \cap \beta})^-(Q) = -0.3$

Clearly  $\Omega^{\alpha \cap \beta}$  is a bipolar  $L$ -fuzzy sub  $\ell$ -HX group of  $\mathfrak{G}$ .

(vi) Let  $\Omega^{\alpha \cap \beta} = ((\Omega^{\alpha \cap \beta})^+, (\Omega^{\alpha \cap \beta})^-)$  be a bipolar  $L$ -fuzzy sub  $\ell$ -HX group of  $\mathfrak{G}$  induced by  $\alpha \cap \beta$  of sub  $\ell$ -group of  $G$ . where

$$(\Omega^{\alpha \cap \beta})^+(P) = \vee\{(\alpha \cap \beta)^+(P)/m \in P \subseteq G\}$$

$$(\Omega^{\alpha \cap \beta})^-(P) = \wedge\{(\alpha \cap \beta)^-(P)/m \in P \subseteq G\}.$$

$(\Omega^{\alpha \cap \beta})^+(P) = 0.8$	$(\Omega^{\alpha \cap \beta})^-(P) = -0.7$
$(\Omega^{\alpha \cap \beta})^+(Q) = 0.4$	$(\Omega^{\alpha \cap \beta})^-(Q) = -0.3$

Clearly,  $\Omega^{\alpha \cap \beta} = \rho^\alpha \cap \sigma^\beta$ .

Hence, by the conditions (i), (ii), (iii), (iv), (v) and (vi),  $\Omega^{\alpha \cap \beta} = \rho^\alpha \cap \sigma^\beta$  is proved.



**Definition 4.9** [6]. Let  $\alpha = (\alpha^+, \alpha^-)$  and  $\beta = (\beta^+, \beta^-)$  are bipolar  $L$ -fuzzy subsets of  $G$ . Let  $\mathfrak{G} \subset 2^G - \{\emptyset\}$  be a  $\ell$ -HX group of  $G$ . Let  $\rho^\alpha = ((\rho^\alpha)^+, (\rho^\alpha)^-)$  and  $\omega^\beta = ((\omega^\beta)^+, (\omega^\beta)^-)$  are bipolar  $L$ -fuzzy subsets of  $\mathfrak{G}$ . The union of  $\rho^\alpha$  and  $\omega^\beta$  is  $(\rho^\alpha \cup \omega^\beta) = ((\rho^\alpha \cup \omega^\beta)^+, (\rho^\alpha \cup \omega^\beta)^-)$  defined as,

$$(i) (\rho^\alpha \cup \omega^\beta)^+(P) = (\rho^\alpha)^+(P) \vee (\omega^\beta)^+(P)$$

$$(ii) (\rho^\alpha \cup \omega^\beta)^-(P) = (\rho^\alpha)^-(P) \wedge (\omega^\beta)^-(P)$$

Where  $(\rho^\alpha)^+(P) = \vee\{\mu^+(m) \mid m \in P \subseteq G\}$

$(\rho^\alpha)^-(P) = \wedge\{\mu^-(m) \mid m \in P \subseteq G\}$

$(\omega^\beta)^+(P) = \vee\{\beta^+(m) \mid m \in P \subseteq G\}$

$(\omega^\beta)^-(P) = \wedge\{\beta^-(m) \mid m \in P \subseteq G\}$ .

**Theorem 4.10** [6]. Let  $\rho^\alpha$  and  $\omega^\beta$  be any two bipolar  $L$ -fuzzy sub  $\ell$ -HX group of a  $\ell$ -HX group  $\mathfrak{G}$  then  $\rho^\alpha \cup \omega^\beta$  is a bipolar  $L$ -fuzzy sub  $\ell$ -HX group of a  $\ell$ -HX group  $\mathfrak{G}$ .

**Example 4.11.** If  $\rho^\alpha$  and  $\omega^\beta$  be any two bipolar  $L$ -fuzzy sub  $\ell$ -HX group of a  $\ell$ -HX group  $\mathfrak{G}$  then  $\rho^\alpha \cup \omega^\beta$  is a bipolar  $L$ -fuzzy sub  $\ell$ -HX group of a  $\ell$ -HX group  $\mathfrak{G}$ , which is described in this example.

Let  $(G, \cdot_{15}, \leq) = (\{1, 4, 7, 13\}, \cdot_{15}, \leq)$  be a  $\ell$ -group where  $G$  is the non-negative integer relatively prime to 15. Let  $\alpha = \{\langle m, \alpha^+(m), \alpha^-(m) \rangle \mid m \in G\}$  and  $\beta = \{\langle m, \beta^+(m), \beta^-(m) \rangle \mid m \in G\}$  are bipolar  $L$ -fuzzy subsets of sub  $\ell$ -group of  $G$  and the mappings  $\alpha^+ : G \rightarrow L, \alpha^- : G \rightarrow L, \beta^+ : G \rightarrow L$  and  $\beta^- : G \rightarrow L$  are defined as,

$\alpha^+(1) = 0.5$	$\alpha^-(1) = -0.6$	$\beta^+(1) = 0.4$	$\beta^-(1) = -0.8$
$\alpha^+(4) = 0.4$	$\alpha^-(4) = -0.5$	$\beta^+(4) = 0.3$	$\beta^-(4) = -0.5$

$\alpha^+(7) = 0.3$	$\alpha^-(7) = -0.4$	$\beta^+(7) = 0.2$	$\beta^-(7) = -0.3$
$\alpha^+(13) = 0.3$	$\alpha^-(13) = -0.4$	$\beta^+(13) = 0.2$	$\beta^-(13) = -0.3$

Clearly,  $\alpha$  and  $\beta$  are bipolar  $L$ -fuzzy sub  $\ell$ -group of  $G$ .

The union of  $\alpha$  and  $\beta$  is calculated as,

$(\alpha \cup \beta)^+(1) = 0.9$	$(\alpha \cup \beta)^-(1) = -0.8$
$(\alpha \cup \beta)^+(4) = 0.8$	$(\alpha \cup \beta)^-(4) = -0.7$
$(\alpha \cup \beta)^+(7) = 0.7$	$(\alpha \cup \beta)^-(7) = -0.6$
$(\alpha \cup \beta)^+(13) = 0.7$	$(\alpha \cup \beta)^-(13) = -0.6$

Clearly,  $\alpha \cup \beta$  is a bipolar  $L$ -fuzzy sub  $\ell$ -group of  $G$ .

**Case i.**  $|M| = 1$  for all  $M \in \mathfrak{G}$ . Let  $\mathfrak{G} = \{P, Q, R, S\} = \{\{1\}, \{4\}, \{7\}, \{13\}\}$  be a  $\ell$ -HX group of  $G$  with usual multiplication and  $|M| = 1$  for all  $M \in \mathfrak{G}$ . Let  $\rho^\alpha$  and  $\omega^\beta$  are bipolar  $L$ -fuzzy subsets of  $\mathfrak{G}$  and the mappings  $(\rho^\alpha)^+ : \mathfrak{G} \rightarrow L, (\rho^\alpha)^- : \mathfrak{G} \rightarrow L$  are calculated as,

$(\rho^\alpha)^+(P) = 0.6$	$(\rho^\alpha)^-(P) = -0.7$	$(\omega^\beta)^+(P) = 0.8$	$(\omega^\beta)^-(P) = -0.7$
$(\rho^\alpha)^+(Q) = 0.5$	$(\rho^\alpha)^-(Q) = -0.6$	$(\omega^\beta)^+(Q) = 0.6$	$(\omega^\beta)^-(Q) = -0.5$
$(\rho^\alpha)^+(R) = 0.4$	$(\rho^\alpha)^-(R) = -0.5$	$(\omega^\beta)^+(R) = 0.4$	$(\omega^\beta)^-(R) = -0.3$
$(\rho^\alpha)^+(S) = 0.4$	$(\rho^\alpha)^-(S) = -0.5$	$(\omega^\beta)^+(S) = 0.4$	$(\omega^\beta)^-(S) = -0.3$

Clearly,  $\rho^\alpha$  and  $\omega^\beta$  is a bipolar  $L$ -fuzzy sub  $\ell$ -HX group of  $\mathfrak{G}$ .

The union of  $\rho^\alpha$  and  $\omega^\beta$  is calculated as,

$(\rho^\alpha \cup \omega^\beta)^+(P) = 0.5$	$(\rho^\alpha \cup \omega^\beta)^-(P) = -0.6$
$(\rho^\alpha \cup \omega^\beta)^+(Q) = 0.4$	$(\rho^\alpha \cup \omega^\beta)^-(R) = -0.5$

$(\rho^\alpha \cup \omega^\beta)^+(R) = 0.3$	$(\rho^\alpha \cup \omega^\beta)^-(S) = -0.4$
$(\rho^\alpha \cup \omega^\beta)^+(S) = 0.3$	$(\rho^\alpha \cup \omega^\beta)^-(S) = -0.4$

Clearly,  $\rho^\alpha \cup \omega^\beta$  is a bipolar  $L$ -fuzzy sub  $\ell$ -HX group of  $\mathfrak{G}$ .

So,  $\alpha$  and  $\beta$  are bipolar  $L$ -fuzzy sub  $\ell$ -group of  $G$  and  $\alpha \cup \beta$  is a bipolar  $L$ -fuzzy sub  $\ell$ -group of  $G$  then  $\rho^\alpha \cup \omega^\beta$  is a bipolar  $L$ -fuzzy sub  $\ell$ -HX group of  $\mathfrak{G}$ .

**Case ii.**  $|M| = 2$  for all  $M \in \mathfrak{G}$ . Let  $\mathfrak{G} = \{P, Q\} = \{\{1, 3\}, \{5, 7\}\}$  be a  $\ell$ -HX group of  $G$  with usual multiplication and  $|M| = 2$  for all  $M \in \mathfrak{G}$ . Let  $\rho^\alpha$  and  $\omega^\beta$  are bipolar  $L$ -fuzzy subsets of  $\mathfrak{G}$  and the mappings  $(\rho^\alpha)^+ : \mathfrak{G} \rightarrow L, (\rho^\alpha)^- : \mathfrak{G} \rightarrow L$  are calculated as,

.15	P	Q
P	P	Q
Q	Q	P

$\wedge$	P	Q
P	P	P
Q	P	Q

$\vee$	P	Q
P	P	Q
Q	Q	Q

Define  $(\rho^\alpha)^+(P) = \vee \{\alpha^+(m) / \text{for all } m \in P \subseteq G\}$

$(\rho^\alpha)^-(P) = \wedge \{\alpha^-(m) / \text{for all } m \in P \subseteq G\}$

$(\omega^\beta)^+(P) = \vee \{\beta^+(m) / \text{for all } m \in P \subseteq G\}$  and

$$(\omega^\beta)^-(P) = \wedge \{\beta^-(m) \mid \text{for all } m \in P \subseteq G\}.$$

Now

$(\rho^\alpha)^+(P) = 0.4$	$(\rho^\alpha)^-(P) = -0.5$	$(\omega^\beta)^+(P) = 0.7$	$(\omega^\beta)^-(P) = -0.9$
$(\rho^\alpha)^+(Q) = 0.3$	$(\rho^\alpha)^-(Q) = -0.2$	$(\omega^\beta)^+(Q) = 0.6$	$(\omega^\beta)^-(Q) = -0.8$

Clearly,  $\rho^\alpha$  and  $\omega^\beta$  is a bipolar  $L$ -fuzzy sub  $\ell$ -HX group of  $\mathfrak{G}$ . The union of  $\rho^\alpha$  and  $\omega^\beta$  is calculated as,

$(\rho^\alpha \cup \omega^\beta)^+(P) = 0.8$	$(\rho^\alpha \cup \omega^\beta)^-(P) = -0.7$
$(\rho^\alpha \cup \omega^\beta)^+(Q) = 0.6$	$(\rho^\alpha \cup \omega^\beta)^-(Q) = -0.5$

Clearly,  $\rho^\alpha \cup \omega^\beta$  is a bipolar  $L$ -fuzzy sub  $\ell$ -HX group of  $\mathfrak{G}$ .

Hence, by cases (i) and (ii),  $\rho^\alpha \cup \omega^\beta$  is a bipolar  $L$ -fuzzy sub  $\ell$ -HX group of  $\mathfrak{G}$ .

**Remark 4.12.** Let  $\alpha = (\alpha^+, \alpha^-)$  and  $\beta = (\beta^+, \beta^-)$  are bipolar  $L$ -fuzzy sub  $\ell$ -group of  $G$  and  $\alpha \cup \beta$  is a bipolar  $L$ -fuzzy subsets of sub  $\ell$ -group of  $G$  and need not be a bipolar  $L$ -fuzzy sub  $\ell$ -group of  $G$ .

If  $\eta^{\alpha \cup \beta}$  is a bipolar  $L$ -fuzzy subset induced by  $\alpha \cup \beta$  then  $\eta^{\alpha \cup \beta} = ((\eta^{\alpha \cup \beta})^+, (\eta^{\alpha \cup \beta})^-)$  is a bipolar  $L$ -fuzzy sub  $\ell$ -HX group of  $\mathfrak{G}$  with  $|M| \geq 2$  for all  $M \in \mathfrak{G}$ .

**Theorem 4.13.** Let  $\rho^\alpha, \omega^\beta, \Omega^{\alpha \cup \beta}$  are bipolar  $L$ -fuzzy sub  $\ell$ -HX group of  $\mathfrak{G}$  induced by bipolar  $L$ -fuzzy subsets  $\alpha, \beta$  and  $\alpha \cup \beta$  of sub  $\ell$ -group of  $G$  respectively then  $\Omega^{\alpha \cup \beta} = \rho^\alpha \cup \omega^\beta$ .

**Proof.** Let  $\rho^\alpha = ((\rho^\alpha)^+, (\rho^\alpha)^-)$  and  $\omega^\beta = ((\omega^\beta)^+, (\omega^\beta)^-)$  are bipolar  $L$ -fuzzy sub  $\ell$ -HX group of  $\mathfrak{G}$  then  $\rho^\alpha \cup \omega^\beta$  are bipolar  $L$ -fuzzy sub  $\ell$ -HX group of  $\mathfrak{G}$  and  $\Omega^{\alpha \cup \beta}$  is a bipolar  $L$ -fuzzy sub  $\ell$ -HX group of  $\mathfrak{G}$  induced by bipolar  $L$ -fuzzy subset  $\alpha \cup \beta$  of sub  $\ell$ -group of  $G$ .

$$\begin{aligned}
 \text{(i)} \quad (\Omega^{\alpha \cup \beta})^+(P) &= \vee \{(\alpha \cup \beta)^+(m)/m \in P \subseteq G\} \\
 &= \vee \{\{\alpha^+(m) \wedge \beta^+(m)\}/m \in P \subseteq G\} \\
 &= (\vee \{\alpha^+(m)/m \in P \subseteq G\}) \vee (\vee \{\beta^+(m)/m \in P \subseteq G\}) \\
 &= (\rho^\alpha)^+(P) \vee (\omega^\beta)^+(P) \\
 &= (\rho^\alpha \cup \omega^\beta)^+(P) \\
 \text{(ii)} \quad (\Omega^{\alpha \cup \beta})^-(P) &= \wedge \{(\alpha \cup \beta)^-(m)/m \in P \subseteq G\} \\
 &= \wedge \{\{\alpha^-(m) \wedge \beta^-(m)\}/m \in P \subseteq G\} \\
 &= (\wedge \{\alpha^-(m)/m \in P \subseteq G\}) \wedge (\wedge \{\beta^-(m)/m \in P \subseteq G\}) \\
 &= (\rho^\alpha)^-(P) \vee (\omega^\beta)^-(P) \\
 &= (\rho^\alpha \cup \omega^\beta)^-(P).
 \end{aligned}$$

Hence,  $\Omega^{\alpha \cup \beta} = \rho^\alpha \cup \omega^\beta$ .

**Example 4.14.** The above theorem can be illustrated in this example.

Let  $(G, \cdot_8, \leq) = (\{1, 3, 5, 7\}, \cdot_8, \leq)$  be a  $\ell$ -group where  $G$  is the non-negative integer relatively prime to 8. Let  $\alpha = \{\langle m, \alpha^+(m), \alpha^-(m) \rangle : m \in G\}$  and  $\beta = \{\langle m, \beta^+(m), \beta^-(m) \rangle : m \in G\}$  are bipolar  $L$ -fuzzy subsets of  $G$ .

(i) The mappings  $\alpha^+ : G \rightarrow L, \alpha^- : G \rightarrow L, \beta^+ : G \rightarrow L$  and  $\beta^- : G \rightarrow L$  are defined as,

$\alpha^+(1) = 0.7$	$\alpha^-(1) = -0.8$	$\beta^+(1) = 0.8$	$\beta^-(1) = -0.9$
$\alpha^+(3) = 0.6$	$\alpha^-(3) = -0.5$	$\beta^+(3) = 0.5$	$\beta^-(3) = -0.7$
$\alpha^+(5) = 0.4$	$\alpha^-(5) = -0.6$	$\beta^+(5) = 0.3$	$\beta^-(5) = -0.5$
$\alpha^+(7) = 0.4$	$\alpha^-(7) = -0.6$	$\beta^+(7) = 0.3$	$\beta^-(7) = -0.5$

Clearly,  $\alpha$  and  $\beta$  is a bipolar  $L$ -fuzzy sub  $\ell$ -group of  $G$ .

(ii) The union of  $\alpha$  and  $\beta$  is calculated as,

$(\alpha \cup \beta)^+(1) = 0.5$	$(\alpha \cup \beta)^-(1) = -0.6$
$(\alpha \cup \beta)^+(3) = 0.4$	$(\alpha \cup \beta)^-(3) = -0.5$
$(\alpha \cup \beta)^+(5) = 0.3$	$(\alpha \cup \beta)^-(5) = -0.4$
$(\alpha \cup \beta)^+(7) = 0.2$	$(\alpha \cup \beta)^-(7) = -0.3$

Now,  $(\alpha \cup \beta)^+(3.5) = (\alpha \cup \beta)^+(7) \geq (\alpha \cup \beta)^+(3) \wedge (\alpha \cup \beta)^+(5), 0.2 \geq (0.4 \wedge 0.3), 0.2 \geq 0.3.$

And  $(\alpha \cup \beta)^-(3.5) = (\alpha \cup \beta)^-(7) \leq (\alpha \cup \beta)^-(3) \vee (\alpha \cup \beta)^-(5), -0.3 \leq (-0.5 \vee -0.4), -0.3 \leq -0.4.$

This is not true.

Therefore,  $\alpha \cup \beta$  is not a bipolar  $L$ -fuzzy sub  $\ell$ -group of  $G$ .

(iii) Let  $\mathfrak{g} = \{\{1, 3\}, \{5, 7\}\}$  be a  $\ell$ -HX group of  $G, P = \{1, 3\}$  and  $Q = \{5, 7\}$ .

$\cdot$	P	Q
P	P	Q
Q	Q	P

$\wedge$	P	Q
P	P	P
Q	P	Q

$\vee$	P	Q
P	P	Q
Q	Q	Q

Define  $(\rho^\alpha)^+(P) = \vee\{\mu^+(m) \mid m \in P \subseteq G\}$

$(\rho^\alpha)^-(P) = \wedge\{\mu^-(m) \mid m \in P \subseteq G\}$

$(\omega^\beta)^+(P) = \vee\{\beta^+(m) \mid m \in P \subseteq G\}$  and

$(\omega^\beta)^-(P) = \wedge\{\beta^-(m) \mid m \in P \subseteq G\}$ .

Now

$(\rho^\alpha)^+(P) = 0.3$	$(\rho^\alpha)^-(P) = -0.8$	$(\omega^\beta)^+(P) = 0.8$	$(\omega^\beta)^-(P) = -0.9$
$(\rho^\alpha)^+(Q) = 0.4$	$(\rho^\alpha)^-(Q) = -0.6$	$(\omega^\beta)^+(Q) = 0.3$	$(\omega^\beta)^-(Q) = -0.5$

Clearly,  $\rho^\alpha$  and  $\omega^\beta$  is a bipolar  $L$ -fuzzy sub  $\ell$ -HX group of  $\mathfrak{G}$ .

(iv) The union of  $\rho^\alpha$  and  $\omega^\beta$  is calculated as,

$(\rho^\alpha \cup \omega^\beta)^+(P) = 0.5$	$(\rho^\alpha \cup \omega^\beta)^-(P) = -0.7$
$(\rho^\alpha \cup \omega^\beta)^+(Q) = 0.8$	$(\rho^\alpha \cup \omega^\beta)^-(Q) = -0.5$

Clearly,  $\rho^\alpha \cup \omega^\beta$  is a bipolar  $L$ -fuzzy sub  $\ell$ -HX group of  $\mathfrak{G}$ .

(v) Let  $\Omega^{\alpha \cup \beta} = ((\Omega^{\alpha \cup \beta})^+, (\Omega^{\alpha \cup \beta})^-)$  be a bipolar  $L$ -fuzzy set of  $\mathfrak{G}$  and the mappings  $(\Omega^{\alpha \cup \beta})^+ : \mathfrak{G} \rightarrow L, (\Omega^{\alpha \cup \beta})^- : \mathfrak{G} \rightarrow L$  are defined as

$$(\Omega^{\alpha \cup \beta})^+(P) = \vee\{(\alpha \cup \beta)^+(P) \mid m \in P \subseteq G\}$$

$$(\Omega^{\alpha \cup \beta})^-(P) = \wedge\{(\alpha \cup \beta)^-(P) \mid m \in P \subseteq G\}$$

Now

$(\Omega^{\alpha \cup \beta})^+(P) = 0.5$	$(\Omega^{\alpha \cup \beta})^-(P) = -0.7$
$(\Omega^{\alpha \cup \beta})^+(Q) = 0.8$	$(\Omega^{\alpha \cup \beta})^-(Q) = -0.5$

Clearly,  $\Omega^{\alpha \cup \beta}$  is a bipolar  $L$ -fuzzy sub  $\ell$ -HX group of  $\mathfrak{G}$ .

(vi) Let  $\Omega^{\alpha \cup \beta} = ((\Omega^{\alpha \cup \beta})^+, (\Omega^{\alpha \cup \beta})^-)$  be a bipolar  $L$ -fuzzy sub  $\ell$ -HX group of  $\mathfrak{H}$  induced by  $\alpha \cup \beta$  of sub  $\ell$ -group of  $G$ .

where  $(\Omega^{\alpha \cup \beta})^+(P) = \vee\{(\alpha \cup \beta)^+(P)/m \in P \subseteq G\}$

$(\Omega^{\alpha \cup \beta})^-(P) = \wedge\{(\alpha \cup \beta)^-(P)/m \in P \subseteq G\}$

$(\Omega^{\alpha \cup \beta})^+(P) = 0.5$	$(\Omega^{\alpha \cup \beta})^-(P) = -0.7$
$(\Omega^{\alpha \cup \beta})^+(Q) = 0.8$	$(\Omega^{\alpha \cup \beta})^-(Q) = -0.5$

Therefore,  $\Omega^{\alpha \cup \beta} = \rho^\alpha \cup \omega^\beta$ .

Hence, by the conditions (i), (ii), (iii), (iv), (v) and (vi),  $\Omega^{\alpha \cup \beta} = \rho^\alpha \cup \omega^\beta$  is proved.

## 5. Conclusion

In this paper, we have presented some properties and examples for union and intersection of bipolar  $L$ -fuzzy sub  $\ell$ -groups and bipolar  $L$ -fuzzy sub  $\ell$ -HX groups.

## References

- [1] V. N. Dixit, Rajesh Kumar and N. Ajmal, Level sub groups and union of fuzzy sub groups, *Fuzzy Sets and Systems* 37 (1990), 359-371.
- [2] J. A. Goguen,  $L$ -Fuzzy sets, *J. Math Anal. Appl.* 18 (1967), 145-174.
- [3] Li Hongxing, HX group, *BUSEFAL* 33 (1987), 31-37.
- [4] Luo Chengzhong, Mi Honghai and Li Hongxing, Fuzzy HX group, *BUSEFAL* 41-14, 1989, pp. 97-106.
- [5] R. Muthuraj and T. Rakesh Kumar, Some characterization of  $L$ -fuzzy  $\ell$ -HX group, *International Journal of Engineering Associates*, No.38, Volume 5, Issue 7 (2016), 38-41.
- [6] R. Muthuraj and G. Santha Meena, Bipolar  $L$ -fuzzy  $\ell$ -HX group and its level sub  $\ell$ -HX group, *International Journal for Research in Applied Science and Engineering Technology*, November 2017, pp. 44-54.
- [7] R. Muthuraj and G. Santha Meena, Bipolar anti  $L$ -fuzzy sub  $\ell$ -HX group and its lower level sub  $\ell$ -HX groups, *Annals of Pure and Applied Mathematics*, Volume 15, No.2, 11 December 2017, pp.253-269, ISSN: 2279-087F(P), 2279-0888(online).



- [8] R. Muthuraj and M. Sridharan, Operations on bipolar fuzzy HX subgroups, International Journal of Engineering Associates, Volume 3, Issue 5, 2014, pp.12-18.
- [9] A. Rosenfeld, Fuzzy groups, J. Math. Anal. Appl. 35 (1971), 512-517.
- [10] G. S. V. Satyasaibaba, Fuzzy lattice ordered groups, South East Asian Bulletin of Mathematics, 32, 2008, pp. 749-766.
- [11] L. A. Zadeh, Fuzzy sets, Inform and Control 8 (1965), 338-365.
- [12] W. R. Zhang, Bipolar fuzzy sets, Proc. of FUZZY-IEEE, 1998, pp. 835-840.